

Limites Remarquables

$$\frac{\ln u \xrightarrow{1}}{u-1} \rightarrow 1$$



Exemples :

$$\begin{aligned} \lim_{x \rightarrow +\infty} \frac{\ln(x^2 - x + 1)}{x} &= \lim_{x \rightarrow +\infty} \frac{\ln(x^2(1 - \frac{1}{x} - \frac{1}{x^2}))}{x} \\ &= \lim_{x \rightarrow +\infty} \frac{\ln(x^2)}{x} + \frac{\ln(1 - \frac{1}{x} - \frac{1}{x^2})}{x} \\ &= \lim_{x \rightarrow +\infty} 2 \frac{\ln(x)}{x} + \frac{\ln(1 - \frac{1}{x} - \frac{1}{x^2})}{x} \\ &= 0 \end{aligned}$$

$$\begin{aligned} \lim_{n \rightarrow +\infty} \frac{\ln(n+1)}{\sqrt{n}} &= \lim_{n \rightarrow +\infty} \frac{\ln(n+1)}{(n+1) - 1} \times \frac{n}{\sqrt{n}} \\ &= \lim_{n \rightarrow +\infty} \frac{\ln(n+1)}{(n+1) - 1} \times \sqrt{n} \end{aligned}$$

$$\left\{ \begin{array}{l} \lim_{n \rightarrow +\infty} n+1 = 1 \\ \lim_{n \rightarrow 1} \frac{\ln(x)}{x-1} = 1 \end{array} \right\} \lim_{n \rightarrow +\infty} \frac{\ln(n+1)}{(n+1) - 1} = 1$$

$$\text{et } \lim_{x \rightarrow +\infty} \sqrt{x} = +\infty$$

Donc $\lim_{n \rightarrow +\infty} \frac{\ln(n+1)}{\sqrt{n}} = 0$



NETSCHOOLI
ACADEMY